Simplifying Rational Expressions Exercise

Simplify the following rational expressions. If possible, state any restrictions on the
expressions.

1 24x%y?
' 16x3y
) 9y —121
) 12y + 44
14a°bc
3. _—
-91abc®
4 c-10
10-~c
s, -k+9
3k -27
6. 6x -2y
2y —6x
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10.

11.

12.

d® +4d?

3y +2y

4bc + 2ac

8bd + 4ad

a’ +3a+2
a’+a-2

b? +5b
3b+15

6x2 +4x-10

3x% +2x-5
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13.

14.

15.

1e.

17.

3x? - 48

X% +x-12

yi+7y
3y +21

3r-12
36 -9r

f2 —14f + 49

49 _f?

Modified @ 2009
Page 3 of 4



ANSWER KEY:

10.

11.

12.

13.

14.

15

3y
2x

3y-11
4

-2a’
13¢°

2g+1
2g-1

(x-4)

(x=3)

W =

x,y#0 16.
-11
FE 17.
YT
a,b,c#0
c#10
k#9

1
x#;y or y #3x

d#0

none

d=0, a;&—-Zborb#—%a
az-2,1
b#-5

5
xz——, 1
3

g#-4, 3

y# -7

47

r#4

f=-7,7
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